MARCO

SPECIALTY STEEL

Marco Specialty Steel, Inc.
9140 Tavenor Lane
Houston, Texas 77075

Phone: 713-649-5310,
800-200-3047

Fax: 713-649-5305
www.marcospecialtysteel.com

Wire Mesh Weight Conversions

Methods of Calculating the Weight
of Wire Cloth

Weight Conversion Factors

To find the approximate weight of wire cloth, multiply the weight of
stainless steel as listed in the wire cloth tables by the appropriate
factor listed below.

Aluminum (ECO and 1100) .....cooiiiiiiieiiiiiee e .339
AluMINUM (5056) ....eeiieiieiiiee e .328
Brass, cartridge (70/30) ....cooceieiiieeeee e 1.065
Brass, oW (80/20) ......ccocueeeiiieeeee e 1.083
Bronze, comm. (90/10) .....ooeiiieiiiieeee e 1.010
Bronze, phosphor (A) ......oooeieieeee e 1.107
CarpenterR 20CB3 .........oooiiieieee e 1.010
(0] o] o =1 ST TSR OO PR 1.114
GO e 2.415
HaynesR 25 (L605) ....ccccveveeieeiie e e 1.142
HaStelloyR B ... 1.155
HaStElIOYR C ... 1.117
HOSKINS 502 ... 1.993
INCONEIR 600 ....oiiiiiii e 1.052
INCOIOYR 800 ...coeiiiiiiie e e .994
MolybdenumM ... 1.277
MONEIR 400 .....oueiiiiiiiieee e 1.103
NIChromeR ... ..o 1.031
NIChromeR | .. ..o 1.010
NichromeR V... 1.052
NICKEI 200 ...ttt 1.110
Platinum ... 2.681
SHIVET e 1.311
Stainless steel (302, 304, 316, 347) ..eveiieeiieeeee e 1.000
Stainless steel (410, 430) ....ocoiiiiiee e .990
Stel (1008) ...ttt .985
Stel (1042) ..o .980
Tantalum .. 2.072
THANIUM oo .561
TUNGSEEN ..o e 2.401

Calculating Clear Opening, Wire Diameter, Center-
to-Center Distance, and Open Area Percentage

M = Mesh (number of wires per lineal inch)
D = Wire diameter

C = Center to center distance, wire to wire
A = Clear opening between wires

1

C=m

Open Area Percent = (MxA)? x 100

A=C-D

Example: 4 Mesh/.063" Dia. Wire
1
4
A =.250"-.063 =.187"

Cc

=.250"

Open Area Percent = (4 x .187)* x 100 = 56%

Metric Users

Because ‘mesh count’ has a direct functional relationship to

1 inch, use the conversion tables on the following pages to
convert all metric measurements to inches before using the
equations above to perform calculations. The equations below are
formulated for metric calculations.

Opening [mm] = (25.4/mesh count) - wire diameter [mm]
Mesh Count = 25.4/(opening [mm] + wire diameter [mm])

Open Area _
Percent

opening [mm}? X 160
(opening [mm] + wire diameter [mm])?

AREA: To convert inches? to mm?, multiply inches? x 6.4516
To convert feet? to m2, multiply feet?> x 9.290304
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